

1) $y = e^{x^2+x}$

$u = x^2 + x$

$y = e^u$

$\frac{du}{dx} = 2x + 1 \Rightarrow \frac{dy}{dx} = 2x + 1$

$y = e^u \Rightarrow \frac{dy}{du} = e^u \times \frac{du}{dx} = 2x + 1$

$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx} = e^u \times 2x + 1 = 2x + 1 e^{x^2+x}$

using Product rule (Leibniz Rule)

$\frac{d^2y}{dx^2} = u'v + v'u = 2e^{x^2+x} + (2x+1)(2x+1)e^{x^2+x}$

let $e^{x^2+x} = y, \therefore = 2y + (2x+1)\frac{dy}{dx}$

let $(2x+1)e^{x^2+x} = \frac{dy}{dx}$

$\therefore \frac{d^2y}{dx^2} = y'' = 2y + \frac{dy}{dx}(2x+1)$

2) $y = x^3 e^{4x}$ find y^5

$y^5 = 5C_0 u^5 v^0 + 5C_1 u^{(5-1)} v^1 + 5C_2 u^{(5-2)} v^2 + 5C_3 u^{(5-3)} v^3 + 5C_4 u^{(5-4)} v^4 + 5C_5 u^{(5-5)} v^5$

$u = e^{4x} \quad v = x^3$

$u' = 4e^{4x} \quad v' = 3x^2$

$u'' = 16e^{4x} \quad v'' = 6x$

$u''' = 64e^{4x} \quad v''' = 6$

$u^{(4)} = 256e^{4x} \quad v^{(4)} = 0$

$u^{(5)} = 1024e^{4x} \quad v^{(5)} = 0$

$y^5 = [1024e^{4x} \cdot x^3] + 5[256e^{4x} \cdot 3x^2] + 10[64e^{4x} \cdot 6x] + 10[16e^{4x} \cdot 6] + 5[4e^{4x} \cdot 0] + [e^{4x} \cdot 0]$

$y^5 = 1024x^3 e^{4x} + 3840x^2 e^{4x} + 3840x e^{4x} + 960e^{4x}$

$$iii) x^2 y'' + x y' + y = 0$$

$$\text{Show } x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2+1)y^{(n)} = 0$$

$$x^2 y'' + x y' + y = 0$$

$$\text{let } w_1 = x^2 y''$$

$$w_2 = x y'$$

$$w_3 = y$$

$$w_1 = x^2 y''$$

$$v = x^2 \quad u = y''$$

$$v' = 2x \quad u' = y'''$$

$$v'' = 2 \quad u'' = y^{(4)}$$

$$u^n = y^{(n+2)}$$

$$\begin{aligned} w_1 &= \sum_{k=0}^{\infty} \frac{v^{(k)} u^{(n-k)}}{k!} \\ &= \sum_{k=0}^{\infty} \frac{v^{(k)} y^{(n+2-k)}}{k!} \\ &= \sum_{k=0}^{\infty} \frac{v^{(k)} y^{(n+2-k)}}{k!} \end{aligned}$$

$$w_1 = x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)}$$

$$w_2 = x y'$$

$$v = x \quad u = y'$$

$$v' = 1 \quad u' = y''$$

$$v'' = 0 \quad u'' = y'''$$

$$u^n = y^{(n+1)}$$

$$w_2 = \sum_{k=0}^{\infty} \frac{v^{(k)} u^{(n-k)}}{k!}$$

$$= \sum_{k=0}^{\infty} \frac{v^{(k)} y^{(n+1-k)}}{k!}$$

$$w_2 = x y^{(n+1)} + n y^{(n)}$$

$$w_3 = y$$

$$v = 1 \quad u = y$$

$$v' = 0 \quad u' = y', \quad u'' = y''$$

$$w_3 = \sum_{k=0}^{\infty} \frac{v^{(k)} u^{(n-k)}}{k!}$$

$$= \sum_{k=0}^{\infty} \frac{v^{(k)} y^{(n-k)}}{k!}$$

$$\therefore W_1 + W_2 + W_3 = 0$$

$$0 = [x^2 y^{(n+2)} + 2xn y^{(n+1)} + n(n-1)y^{(n)}] + [x y^{(n+1)} + n y^{(n)}] + y^{(n)}$$

$$0 = x^2 y^{(n+2)} + (2xn + x) y^{(n+1)} + (n^2 - n + n + 1) y^{(n)}$$

$$0 = x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2 + 1) y^{(n)}$$
